
 PARTS INCLUDED 
1 Right Side Flame Floorboard Cover 
1  Left Side Flame Floorboard Cover 
1  Hardware Kit Containing: 

8  Rubber Isolators
8  1/4”-20 Shoulder Screws 
8  5/16” Flat Washers 

1 Installation Instructions

Please read and understand entire instructions before starting installation.  

THANK YOU FOR CHOOSING KϋRYAKYN! 

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR 
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL       
INSTRUCTIONS, WARNINGS, CAUTIONS AND NOTICES REGARDING THE USE 
AND CARE OF THIS PRODUCT. 

TOOLS SUGGESTED 
Set of Hex Wrenches, Flat Blade Screwdriver, IN/LBS Torque Wrench and Hex Socket Set 

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE 
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.  

STEP 1 Read and understand all steps in the instructions before starting the  
installation. Park the motorcycle on a hard, level surface and turn off the  
ignition. Let cool. 

YOU WILL BE WORKING AROUND THE ENGINE AND      
EXHAUST SYSTEM DURING INSTALLATION. ENSURE THAT 
THE ENGINE AND EXHAUST SYSTEM HAVE FULLY COOLED 

   TO PREVENT INJURY. 

INSTALLATION 

ZOMBIE FLOORBOARD COVERS  4566 

-cont.-

THIS INDICATION ALERTS YOU TO THE FACT THAT    
IGNORING THE CONTENTS DESCRIBED HEREIN CAN 

  RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. 

This indication alerts you to the fact that ignoring the  
contents described herein may negatively affect product 
performance and functionality.

IF INSTALLING THIS PRODUCT FOR ANOTHER PARTY, 
PLEASE MAKE SURE THEY RECEIVE THIS COPY OF THE     
INSTALLATION INSTRUCTIONS SO  THEY ARE AWARE OF 

 THE IMPORTANT INFORMATION CONTAINED IN THEM. 

https://www.motorcycleid.com/kuryakyn/


PAGE 

2

STEP 2 Starting with the right side, remove the footboard pad by gently pulling 
up on the rubber pad, and simultaneously pushing on the rubber darts 
protruding from the underside of the footboard with a flat blade
screwdriver. PIC 1. 

STEP 3 Place four rubber isolator pads from the hardware kit in the recess in the 
floorboard pan so that the smooth side is facing down as shown in PIC 2. 

STEP 4 Set the floorboard cover on the isolators, lining the holes up with the 
welded nuts on the bottom side of the cover. 

STEP 5 Secure the cover using four 1/4”-20 shoulder screws and four 5/16” flat 
washers from the hardware kit as shown in PIC 3, and torque them to 
72 IN/LBS. 

STEP 6 Repeat STEP 2 through STEP 5 for the opposite side.

It is the installer’s responsibility to ensure that all of the          
fasteners (including pre-assembled) are tightened before 
operation of the motorcycle. Küryakyn will not provide  

 warranty coverage on products or components lost due to 
   improper installation or lack of maintenance. Periodic  

 inspection and maintenance are required on all fasteners. 

Ride On! 
ZOMBIE FLOORBOARD COVERS      INSTALLATION

PROTRUDING RUBBER DARTS 

PIC 1 

PIC 3 

PIC 2 

RUBBER ISOLATORS ON TOP OF FLOORBOARD PAN 

1/4”-20 SHOULDER SCREWS AND 5/16” FLAT WASHERS 

Shop for other motorcycle foot controls and pegs on our website.

https://www.motorcycleid.com/foot-controls-pegs.html



